
Au
gu

st



August 2023

RODRUNNER REF NO: LS-AF-311A ADAPTABLE ALFA ROMEO

Stabilizer Bar Link

Weight: 0,36

147

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

937 2000-2010 Rear 60613575

Length: 180 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: LS-AF-311A ADAPTABLE ALFA ROMEO

Stabilizer Bar Link

Weight: 0,36

156

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

932 1996-2007 Rear 60613575

Length: 180 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 1



August 2023

RODRUNNER REF NO: LS-AF-311A ADAPTABLE ALFA ROMEO

Stabilizer Bar Link

Weight: 0,36

GT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

937 2003-2010 Rear 60613575

Length: 180 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: TC-B-1318 ADAPTABLE BMW

Lateral Arm

Weight: 0,626

3-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G20/G21/G28 2018- Rear Lower
Forward

33306878639

Length: 329

www.rodrunnerparts.com 2



August 2023

RODRUNNER REF NO: TC-B-1318 ADAPTABLE BMW

Lateral Arm

Weight: 0,626

4-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G22/G23/G26 2021- Rear Lower
Forward

33306878639

Length: 329

RODRUNNER REF NO: TC-B-1318 ADAPTABLE BMW

Lateral Arm

Weight: 0,626

Z4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G29 2019- Rear Lower
Forward

33306878639

Length: 329

www.rodrunnerparts.com 3



August 2023

RODRUNNER REF NO: TC-B-1318 ADAPTABLE BMW

Lateral Arm

Weight: 0,626

2-SERIES

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G42 2021- Rear Lower
Forward

33306878639

Length: 329

Coupe

RODRUNNER REF NO: TC-BU-278 ADAPTABLE BUICK

Control Arm

Weight: 3,854

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Front Right
Lower

84376576

Length: 302,5

www.rodrunnerparts.com 4



August 2023

RODRUNNER REF NO: TC-BU-279 ADAPTABLE BUICK

Control Arm

Weight: 3,854

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Front Left
Lower

84107269

Length: 302,5

RODRUNNER REF NO: LS-CH-1126 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,565

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Rear 84533152

Length: 207 Bolt Metric: M12X1,75

www.rodrunnerparts.com 5



August 2023

RODRUNNER REF NO: LS-CH-1126 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,565

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Rear 84533152

Length: 207 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-CH-1126 ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,565

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1XX 2021- Rear 84533152

Length: 207 Bolt Metric: M12X1,75

www.rodrunnerparts.com 6



August 2023

RODRUNNER REF NO: LS-CH-1126 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,565

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2020- Rear 84533152

Length: 207 Bolt Metric: M12X1,75

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE CHEVROLET

Tie Rod

Weight: 0,771

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.rodrunnerparts.com 7



August 2023

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE CHEVROLET

Tie Rod

Weight: 0,771

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE CHEVROLET

Tie Rod

Weight: 0,771

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.rodrunnerparts.com 8



August 2023

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE CADILLAC

Tie Rod

Weight: 0,771

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1XX 2021- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE GMC

Tie Rod

Weight: 0,771

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.rodrunnerparts.com 9



August 2023

RODRUNNER REF NO: AJ-CH-1173 ADAPTABLE GMC

Tie Rod

Weight: 0,771

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2020- Front 84674099

Length: 288 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

RODRUNNER REF NO: LS-CH-310A ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,36

LACETTI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J200 2003-2012 Rear 96391876, 96561754, 4665085Z00,
4665085Z00

Length: 217 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 10



August 2023

RODRUNNER REF NO: LS-CH-310A ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,36

OPTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J200 2003-2012 Rear 96391876, 96561754, 4665085Z00,
4665085Z00

Length: 217 Bolt Metric: M10X1,25

Steel Type

RODRUNNER REF NO: LS-CH-310A ADAPTABLE DAEWOO

Stabilizer Bar Link

Weight: 0,36

NUBIRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2003-2009 Rear 96391876, 96561754, 4665085Z00,
4665085Z00

Length: 217 Bolt Metric: M10X1,25

Steel Type

www.rodrunnerparts.com 11



August 2023

RODRUNNER REF NO: BJ-CH-994 ADAPTABLE CHEVROLET

Ball Joint

Weight: 0,695

SUBURBAN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Front Lower 84973287*, 84973286*

Length: 129 Bolt Metric: M16X2

RODRUNNER REF NO: BJ-CH-994 ADAPTABLE CHEVROLET

Ball Joint

Weight: 0,695

TAHOE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1YC 2021- Front Lower 84973287*, 84973286*

Length: 129 Bolt Metric: M16X2

www.rodrunnerparts.com 12



August 2023

RODRUNNER REF NO: BJ-CH-994 ADAPTABLE CADILLAC

Ball Joint

Weight: 0,695

ESCALADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GMT1XX 2021- Front Lower 84973287*, 84973286*

Length: 129 Bolt Metric: M16X2

RODRUNNER REF NO: BJ-CH-994 ADAPTABLE GMC

Ball Joint

Weight: 0,695

YUKON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2020- Front Lower 84973287*, 84973286*

Length: 129 Bolt Metric: M16X2

www.rodrunnerparts.com 13



August 2023

RODRUNNER REF NO: TC-FO-1788 ADAPTABLE FORD

Lateral Arm

Weight: 2,812

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Rear Upper LB5Z5500C

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS343
Lateral Arm

Bushing
Rear Upper

Forward
LB5Z5500C*

BC-FD-BS344
Lateral Arm

Bushing
Rear Upper
Rearward

LB5Z5500C*

RODRUNNER REF NO: TC-FO-1788 ADAPTABLE LINCOLN

Lateral Arm

Weight: 2,812

AVIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U611 2020- Rear Upper LB5Z5500C

Length: 293

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS343
Lateral Arm

Bushing
Rear Upper

Forward
LB5Z5500C*

BC-FD-BS344
Lateral Arm

Bushing
Rear Upper
Rearward

LB5Z5500C*

www.rodrunnerparts.com 14



August 2023

RODRUNNER REF NO: BC-FD-BS343 ADAPTABLE FORD

Lateral Arm Bushing

Weight: 0,255

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Rear Upper
Forward

LB5Z5500C*

Length: 49,5

TC-FO-1788 Lateral Arm Rear Upper LB5Z5500C

RODRUNNER REF NO: BC-FD-BS343 ADAPTABLE LINCOLN

Lateral Arm Bushing

Weight: 0,255

AVIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U611 2020- Rear Upper
Forward

LB5Z5500C*

Length: 49,5

TC-FO-1788 Lateral Arm Rear Upper LB5Z5500C

www.rodrunnerparts.com 15



August 2023

RODRUNNER REF NO: BC-FD-BS344 ADAPTABLE FORD

Lateral Arm Bushing

Weight: 0,235

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Rear Upper
Rearward

LB5Z5500C*

Length: 52,6

TC-FO-1788 Lateral Arm Rear Upper LB5Z5500C

RODRUNNER REF NO: BC-FD-BS344 ADAPTABLE LINCOLN

Lateral Arm Bushing

Weight: 0,235

AVIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U611 2020- Rear Upper
Rearward

LB5Z5500C*

Length: 52,6

TC-FO-1788 Lateral Arm Rear Upper LB5Z5500C

www.rodrunnerparts.com 16



August 2023

RODRUNNER REF NO: AJ-FO-1433 ADAPTABLE FORD

Tie Rod

Weight: 0,557

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front L1MZ3280E

Length: 221 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: LS-FO-1496 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,432

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front LB5Z5K484A

Length: 250,5 Bolt Metric: M14X1,5

www.rodrunnerparts.com 17



August 2023

RODRUNNER REF NO: TC-FO-1828 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 3,01

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U152 2002-2005 Rear Right
Upper

RK620667, 1L2Z5500AD

Length: 345

Moog Type

RODRUNNER REF NO: TC-FO-1828 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 3,01

AVIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN152 2003–2005 Rear Right
Upper

RK620667, 1L2Z5500AD

Length: 345

Moog Type

www.rodrunnerparts.com 18



August 2023

RODRUNNER REF NO: TC-FO-1828 ADAPTABLE MERCURY

Control Arm and Ball Joint

Weight: 3,01

MOUNTAINEER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2005 Rear Right
Upper

RK620667, 1L2Z5500AD

Length: 345

Moog Type

RODRUNNER REF NO: TC-FO-1829 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 3,01

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U152 2002-2005 Rear Left
Upper

RK620668, 1L2Z5500AC

Length: 345

Moog Type

www.rodrunnerparts.com 19



August 2023

RODRUNNER REF NO: TC-FO-1829 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 3,01

AVIATOR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UN152 2003–2005 Rear Left
Upper

RK620668, 1L2Z5500AC

Length: 345

Moog Type

RODRUNNER REF NO: TC-FO-1829 ADAPTABLE MERCURY

Control Arm and Ball Joint

Weight: 3,01

MOUNTAINEER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2005 Rear Left
Upper

RK620668, 1L2Z5500AC

Length: 345

Moog Type

www.rodrunnerparts.com 20



August 2023

RODRUNNER REF NO: TC-H-108 ADAPTABLE HONDA

Control Arm and Ball Joint

Weight: 4,985

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Front Right
Lower

51350T20A10

Length: 369 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-H-475K Ball Joint Kit Front Lower 51220TEAT01

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-SB 1037
Control Arm

Bushing
Front Lower

Inner

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

RODRUNNER REF NO: TC-H-108S ADAPTABLE HONDA

Control Arm

Weight: 4,454

CIVIC

MODEL NO BODY YEAR DIRECTION OEM NO

FE/FL 2022- Front Right
Lower

51350T20A10

Length: 309,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-SB 1037
Control Arm

Bushing
Front Lower

Inner

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

www.rodrunnerparts.com 21



August 2023

RODRUNNER REF NO: TC-H-109 ADAPTABLE HONDA

Control Arm and Ball Joint

Weight: 7,985

CIVIC

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

FE/FL 2022- Front Left
Lower

51360T20A10

Length: 369 Bolt Metric: M12X1,25

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-H-475K Ball Joint Kit Front Lower 51220TEAT01

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-SB 1037
Control Arm

Bushing
Front Lower

Inner

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

RODRUNNER REF NO: TC-H-109S ADAPTABLE HONDA

Control Arm

Weight: 4,454

CIVIC

MODEL NO BODY YEAR DIRECTION OEM NO

FE/FL 2022- Front Left
Lower

51360T20A10

Length: 309,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-SB 1037
Control Arm

Bushing
Front Lower

Inner

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

www.rodrunnerparts.com 22



August 2023

RODRUNNER REF NO: TC-H-1388S ADAPTABLE HONDA

Control Arm

Weight: 3,822

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018-2022 Front Right
Lower

51350TVEH03

Length: 334,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-HO-BS179
Control Arm

Bushing
Front Lower

Inner
51350TVAA04*, 51360TVAA04*

Euro Market

RODRUNNER REF NO: TC-H-1389S ADAPTABLE HONDA

Control Arm

Weight: 3,822

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018-2022 Front Left
Lower

51360TVEH03

Length: 334,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 1036
Control Arm

Bushing
Front Lower

Outer

part of 51350TBAA01, part of
51360TBAA01, part of
51350TBAA11, part of

BC-HO-BS179
Control Arm

Bushing
Front Lower

Inner
51350TVAA04*, 51360TVAA04*

Euro Market

www.rodrunnerparts.com 23



August 2023

RODRUNNER REF NO: TC-IN-1008 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,755

G37

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V36 2007-2015 Rear 55110JK00C

Length: 271,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

RODRUNNER REF NO: TC-IN-1008 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,755

Q40

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2015- Rear 55110JK00C

Length: 271,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

www.rodrunnerparts.com 24



August 2023

RODRUNNER REF NO: TC-IN-1008 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,755

Q60

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016-2022 Rear 55110JK00C

Length: 271,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

RODRUNNER REF NO: TC-IN-1008 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,755

370Z

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z34 2009-2012 Rear 55110JK00C

Length: 271,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

www.rodrunnerparts.com 25



August 2023

RODRUNNER REF NO: TC-JA-1158 ADAPTABLE JAGUAR

Lateral Arm

Weight: 4,43

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Right
Lower

C2D42387

Length: 314

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

BC-JG-BS036
Lateral Arm

Bushing
Rear Lower C2D42387*, C2D42388*

BC-JG-BS038
Lateral Arm

Bushing
Rear Lower C2D35200*, C2D35201*

RODRUNNER REF NO: TC-JA-1158 ADAPTABLE JAGUAR

Lateral Arm

Weight: 4,43

XJ

MODEL NO BODY YEAR DIRECTION OEM NO

X351 2010-2019 Rear Right
Lower

C2D42387

Length: 314

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

BC-JG-BS036
Lateral Arm

Bushing
Rear Lower C2D42387*, C2D42388*

BC-JG-BS038
Lateral Arm

Bushing
Rear Lower C2D35200*, C2D35201*

www.rodrunnerparts.com 26



August 2023

RODRUNNER REF NO: TC-JA-1159 ADAPTABLE JAGUAR

Lateral Arm

Weight: 4,43

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Left
Lower

C2D42388

Length: 314

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

BC-JG-BS036
Lateral Arm

Bushing
Rear Lower C2D42387*, C2D42388*

BC-JG-BS038
Lateral Arm

Bushing
Rear Lower C2D35200*, C2D35201*

RODRUNNER REF NO: TC-JA-1159 ADAPTABLE JAGUAR

Lateral Arm

Weight: 4,43

XJ

MODEL NO BODY YEAR DIRECTION OEM NO

X351 2010-2019 Rear Left
Lower

C2D42388

Length: 314

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JA-1024
Lateral Arm

Bushing
Rear Outer XR88759*, XR88760*

BC-JG-BS036
Lateral Arm

Bushing
Rear Lower C2D42387*, C2D42388*

BC-JG-BS038
Lateral Arm

Bushing
Rear Lower C2D35200*, C2D35201*

www.rodrunnerparts.com 27



August 2023

RODRUNNER REF NO: BC-JG-BS036 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,298

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Lower C2D42387*, C2D42388*

Length: 54

TC-JA-1158 Lateral Arm
Rear Right

Lower
C2D42387

TC-JA-1159 Lateral Arm
Rear Left

Lower
C2D42388

RODRUNNER REF NO: BC-JG-BS036 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,298

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X351 2010-2019 Rear Lower C2D42387*, C2D42388*

Length: 54

TC-JA-1158 Lateral Arm
Rear Right

Lower
C2D42387

TC-JA-1159 Lateral Arm
Rear Left

Lower
C2D42388

www.rodrunnerparts.com 28



August 2023

RODRUNNER REF NO: BC-JG-BS038 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,226

XF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X250 2008-2015 Rear Lower C2D35200*, C2D35201*

Length: 71

TC-JA-1158 Lateral Arm
Rear Right

Lower
C2D42387

TC-JA-1159 Lateral Arm
Rear Left

Lower
C2D42388

RODRUNNER REF NO: BC-JG-BS038 ADAPTABLE JAGUAR

Lateral Arm Bushing

Weight: 0,226

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X351 2010-2019 Rear Lower C2D35200*, C2D35201*

Length: 71

TC-JA-1158 Lateral Arm
Rear Right

Lower
C2D42387

TC-JA-1159 Lateral Arm
Rear Left

Lower
C2D42388

www.rodrunnerparts.com 29



August 2023

RODRUNNER REF NO: TR-KI-661 ADAPTABLE KIA

Tie Rod End

Weight: 0,734

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right 56825P2000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-KI-661 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,734

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TM 2019- Front Right 56825P2000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 30



August 2023

RODRUNNER REF NO: TR-KI-662 ADAPTABLE KIA

Tie Rod End

Weight: 0,734

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left 56820P2000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

RODRUNNER REF NO: TR-KI-662 ADAPTABLE HYUNDAI

Tie Rod End

Weight: 0,734

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

TM 2019- Front Left 56820P2000

Length: 186 Bolt Metric: M12X1,25 Housing Metric: M16X1,5

www.rodrunnerparts.com 31



August 2023

RODRUNNER REF NO: TC-M-1048 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 6,284

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W203 2000-2007 Front Right
Lower

2033300407

Length: 363,8 Bolt Metric: M12X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS235
Control Arm

Bushing
Front Lower

Inner
2033300307*, 2033300407*

Only for 4x4

YEAR ONLY
2003-2007

RODRUNNER REF NO: TC-M-1049 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 6,284

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W203 2000-2007 Front Left
Lower

2033300307

Length: 363,8 Bolt Metric: M12X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS235
Control Arm

Bushing
Front Lower

Inner
2033300307*, 2033300407*

Only for 4x4

YEAR ONLY
2003-2007

www.rodrunnerparts.com 32



August 2023

RODRUNNER REF NO: BC-ME-BS235 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,594

C-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W203 2000-2007 Front Lower
Inner

2033300307*, 2033300407*

Length: 87,8

Only for 4x4

YEAR ONLY
2003-2007

TC-M-1048
Control Arm

and Ball Joint
Front Right

Lower
2033300407

TC-M-1049
Control Arm

and Ball Joint
Front Left

Lower
2033300307

RODRUNNER REF NO: LS-M-1196 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,264

EQE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V295 2022- Rear 2973261600

Length: 148 Bolt Metric: M10X1,5

www.rodrunnerparts.com 33



August 2023

RODRUNNER REF NO: TC-MN-188 ADAPTABLE MINI

Lateral Arm

Weight: 1,54

COOPER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R50/R53 2000-2006 Rear 522058, 33326768726,
33326769023, 33326769023

Length: 508,5

Adjustable Type

RODRUNNER REF NO: AJ-N-1123 ADAPTABLE NISSAN

Tie Rod

Weight: 0,51

ALTIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

L34 2019- Front 485216CA0A

Length: 204,5 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 34



August 2023

RODRUNNER REF NO: TR-N-1191 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,858

X-TRAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Front Right D85206RA0E

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-N-1192 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,858

X-TRAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Front Left D86406RA0E

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 35



August 2023

RODRUNNER REF NO: TC-N-1358 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,816

G35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2008 Rear Lower
Forward

551A0AL500, 55110AL510

Length: 333,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

RODRUNNER REF NO: TC-N-1358 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,816

350Z

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z33 2003-2009 Rear Lower
Forward

551A0AL500, 55110AL510

Length: 333,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS176
Lateral Arm

Bushing
Rear Lower

Forward
551A0AL500*, 55110AL510*

www.rodrunnerparts.com 36



August 2023

RODRUNNER REF NO: BC-NI-BS176 ADAPTABLE INFINITI

Lateral Arm Bushing

Weight: 0,172

G35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2003-2008 Rear Lower
Forward

551A0AL500*, 55110AL510*

Length: 42

TC-N-1358 Lateral Arm
Rear Lower

Forward
551A0AL500, 55110AL510

RODRUNNER REF NO: BC-NI-BS176 ADAPTABLE NISSAN

Lateral Arm Bushing

Weight: 0,172

350Z

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z33 2003-2009 Rear Lower
Forward

551A0AL500*, 55110AL510*

Length: 42

TC-N-1358 Lateral Arm
Rear Lower

Forward
551A0AL500, 55110AL510

www.rodrunnerparts.com 37



August 2023

RODRUNNER REF NO: TC-N-1408 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 3,272

QUEST

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V42 2004-2009 Rear Right
Upper

CMS30129, 55501CK000

Length: 301 Bolt Metric: M14X1,5

RODRUNNER REF NO: TC-N-1409 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 3,272

QUEST

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V42 2004-2009 Rear Left
Upper

CMS30128, 55502CK000

Length: 301 Bolt Metric: M14X1,5

www.rodrunnerparts.com 38



August 2023

RODRUNNER REF NO: TR-N-141 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,858

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Right 490016US1D, 490016US3A

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-N-142 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,858

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Left 490016US1E, 490016US3A

Length: 220 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 39



August 2023

RODRUNNER REF NO: LS-N-926A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,478

X-TRAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Front Right 546186RR0A

Length: 300 Bolt Metric: M12X1,25

Steel Type

RODRUNNER REF NO: LS-N-927A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,496

X-TRAIL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T33 2021- Front Left 546686RR0A

Length: 300 Bolt Metric: M12X1,25

Steel Type

www.rodrunnerparts.com 40



August 2023

RODRUNNER REF NO: BJ-T-1134 ADAPTABLE TOYOTA

Tie Rod

Weight: 0,739

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front 4333009B60

Length: 97,7 Bolt Metric: M14X1,5

RODRUNNER REF NO: BJ-T-1134 ADAPTABLE TOYOTA

Tie Rod

Weight: 0,739

SIENNA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XL40 2020- Front 4333009B60

Length: 97,7 Bolt Metric: M14X1,5

www.rodrunnerparts.com 41


